№1
5 · 3 =               25 : 5 = 
50 : 5 =             12 : 6 =  
6 · 4 =               48 : 6=
30 : 6 =             7 · 8 = 

9 : 3 · 9 =                    8 : 4 · 6 = 
6 · 2 - 1 =                   10 : 5 · 3 = 
8 : 2 +54 =                  8 : 2 · 5 = 
4 · 2 · 9 =                    9 · 3 : 1 = 

№2
Заполни таблицу:
	Множитель
	2
	10
	
	7
	9
	
	5

	Множитель
	9
	
	2
	
	9
	9
	

	Произведение
	
	30
	16
	28
	
	54
	25



	Делимое
	36
	24
	
	35
	
	54
	42

	Делитель
	4
	
	7
	
	9
	9
	

	Частное 
	
	4
	4
	5
	9
	
	6

	
	
	
	
	
	
	
	



№3
[bookmark: _GoBack] Найди сторону прямоугольника, если известно, что его площадь равна 48 см2, а одна из сторон - 6см.
__________________________________________________________________________________________________________


